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QUESTION 1

Given the code fragment: What is the result?

1 public class Whizlabs {
Y, public static void main{5tring[] args) {
3 int sum = 0;
4
5 for(int x = 0;x<=10pc++4)
(4] sum += X;
7 System.out.print("Sum for 0 to " + x);
8 System.out.printin(” = * + sum);
9. 1
10. }
A. Sum is 600

B. Compilation fails at line n1.
C. Compilation fails at line n2.
D. A ClassCastException is thrown at line nl.
E. A ClassCastException is thrown at line n2.

Correct Answer: C

QUESTION 2

Examine: Which statement is true?

Result
CPU Time: 0.14 sec(s), Memory: 32028 kilobyte(s)

12

A. The program prints m1.Accessed.

B. The program fails compile due to the unhandled E1 exception.
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C. The program prints m2.Accessed.
D. The program fails to compile due to the unhandled E2 exception.
Correct Answer: B

Explanation:

L

int a
int b
int o =
int rl .

1kl o= / b
int ¥3 = () e+ 1))
System.out.println(rl + »

Il
ta

'_I.
n,l ‘ll nl ] s -

b/ c+1
o el

TmE M

e Mg

W + IE + il = Wi + IB } ;

QUESTION 3

Given the class definitions:
class C1 {}

class C2 extends C1 {}
class C3 extends C2 {}
and the code fragment:

16.

C1 obj1 = (C1) new C2();
17.

C2 0bj2 = (C2) new C3();
18.

C2 0bj3 = (C2) new C1();
19.

C3 obj4 = (C3) obj2;
Which line throws ClassCastException?
A.line 18

B. line 17

C. line 19
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D. line 16

Correct Answer: A

C1 cannot access the methods of class C2 because the superclass cannot inherit the methods of the child class.

QUESTION 4

Given:

public static void main(Sztringl[] arcs) {

String names[] = {"Thomas", "Peter", "Joseph"}:;
String pwd[] = new String[3]:
int idx = 0;
try {
for (String n : names) {
pwd[idx] = n.substring(Z, 6);
System.out.println (pwd[idx]) ;
idx++;
}

1.
I

catch (Exception &) {
System.out.println("Invalid Name") ;

What is the result?

A. Welcome Visit Count:0 Welcome Visit Count: 1
B. Compilation fails at line n2.

C. Compilation fails at line n1.

D. Welcome Visit Count:0 Welcome Visit Count: 0

Correct Answer: C

Result
CPU Time: 0.15 sec(s), Memory: 29904 kilobyte(s)

omas

Invalid Name
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QUESTION 5
Which of the following can fill in the blank in this code to make it compile? (Select 2 options.)
1 public void method()  Exception {
2. Exception();
5.1
A. On line 1, fill in throws
B. On line 1, fill in throws new
C. On line 2, fill in throw new
D. On line 2, fill in throws
E. On line 2, fill in throws new
Correct Answer: AC
Option A and C are the correct answer.
In a method declaration, the keyword throws is used. So here at line 1 we have to use option A.
To actually throw an exception, the keyword throw is used and a hew exception is created, so at line 2 we
have to use throw and new keywords, which is option C. Finally it will look like;
public void method() throws Exception {
throw new ExceptionO;
}
REFERENCE : httpsy/docs.oracle.com/javase/tutorial/essential/io/fileOps.html#exception The correct

answer is: On line 1, fill in throws. On line 2, fill in throw new
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